Florida Building Code Online

FLORIDA DEFARTMBNT OF

Business & Professional Regulation

BCIS Home | LogIn | User Registration | Hot Topics

Product Approval
USER: Public User

Pl a ﬂ'l.','#";i;'fl

i
i

Page 1 of 2

| (0nin Houe|/aBout oara | /08rR 01VIsIONS CONTACT DB PR

Submit Surcharge ] Stats & Facts | Publications ! Contact Us 1 BCIS Site Map ] Links | Search i

Product Approval Menu > Product or Application Search > Application List > Application Detail

. } OFFICE OF THE FL #
BECRETARY. R
Application Type
Code Version

Application Status

Comments
Archived

Product Manufacturer
Address/Phone/Email

Authorized Signature

Technical Representative
Address/Phone/Email

Quality Assurance Representative
Address/Phone/Email

Category
Subcategory

Compliance Method

Florida Engineer or Architect Name who developed

the Evaluation Report

Florida License

Quality Assurance Entity

Quality Assurance Contract Expiration Date
Validated By

Certificate of Independence

Referenced Standard and Year (of Standard)

Equivalence of Product Standards
Certified By

Sections from the Code

http://www.floridabuilding.org/pt/pr_app_dtl.aspx?param=wGEVXQwtDqvjIC6u0EmpY...

FL8523-R6
Revision
2017
Approved

]

American Shutter Systems Association, Inc.

4268 Westroads Drive
West Palm Beach, FL 33407
(561) 209-8263
bfeeley@easternmetal.com

Bill Feeley
Irodriguez@easternmetal.com

Shutters
Bahama

Evaluation Report from a Florida Registered Architect or a Licensed
Florida Professional Engineer

[Z] Evaluation Report - Hardcopy Received

Walter A. Tillit Ir,

PE-44167

National Accreditation and Management Institute
12/31/2020

John Henry Kampmann Jr,

VI Validation Checklist - Hardcopy Received

FL852 6 COI AMERICAN SHUTTER EMS ASS INC.
DRAWING 17-109 CERTIFICATE OF INDEPENDENCE.PDF

Standard Year
ASTM E 330 2002
ASTM E-1886-05 2005
ASTM E-1996-05 2005

9/16/2019




Florida Building Code Online

Product Approval Method

Page 2 of 2

Method 1 Option D

Date Submitted 09/14/2017
Date Validated 10/13/2017
Date Pending FBC Approval 10/17/2017
Date Approved 12/12/2017

Summary of Products

FL # Model, Number or Name

Description

8523.1 Bertha HV Bahama Shutter (Non-

HVHZ) Drawing Number 17-109

Extruded aluminum blades assembled together and retained
by jambs/headers to provide Hurricane Protection.

Limits of Use

Approved for use in HVHZ: No
Approved for use outside HVHZ: Yes
Impact Resistant: Yes

Design Pressure: N/A

width is 42" and Max. height is 96" for +45, -55 p.s.f. ASD
design load, Max. width is 120" and Max. height is 70" for
+45, -50 p.s.f.

Other: Large missile level "D", Wind Zone 1, 2 and 3, Max.

Installation Instructions

FL8523 R6 II AMERICAN SHUTTER SYSTEMS ASSOC.,
INC. DRAWING 17-109 BERTHA H.V. BAHAMA
SHUTTER.PDF

Verified By: American Test Lab of South Florida Inc.
Created by Independent Third Party: Yes

Evaluation Reports

FL8523 R6 AE AMERICAN SHUTTER SYSTEMS ASSOC.,
INC. DRAWING 17-109 PRODUCT EVALUATION

REPORT.PDF
Created by Independent Third Party: Yes

[Bac]  [nex]

Contact Us :: 2601 Blair Stone Road, Tallahassee FL 32399 Phone: 850-487-1824
The State of Florida is an AA/EEQ employer, Copyright 2007-2013 S Florida. :: Privacy Statement :: Accessibility Statement :: Refund Statement

Under Florida law, email addresses are public records. If you do not want your e-mail address released in response to a public-records requast, do nat send electronic
mail to this entity. Instead, contact the office by phone or by traditional mail. If you have any questions, please contact 850.487.1395. *Pursuant to Section 455,275
(1), Florida Statutes, effective October 1, 2012, licensees licensed under Chapter 455, F.S. must provide the Department with an email address if they have one. The
emails provided may be used for official communication with the licensee. However email addresses are public record. If you do not wish to supply a personal address,
please provide the Department with an email address which can be made available to the public. To determine if you are a licensee under Chapter 455, F.S., please
click here .

Product Approval Accepts:

1 B (et [l B

Credit Card
Safe

SCCUrityMETRICS

http://www.floridabuilding.org/pr/pr_app_dtl.aspx?param=wGEVXQwtDqvjJC6u0EmpY... 9/16/2019



GENERAL NOTES:

1. BERTHA H.V. BAHAMA SHUTTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN
VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2017 (6th EDITION) OF THE FLORIDA BUILDING CODE.
THIS BAHAMA SHUTTER SHALL NOT BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES. (MIAMI DADE/
BROWARD COUNTY)

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,

FOR A BASIC WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 AND SHALL NOT EXCEED THE

MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON NOTE 2.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7—10

SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON NOTE 2.

IN ORDER TO VERIFY THAT ANCHORS ON THIS P.E.D., AS TESTED, WERE NOT OVERSTRESSED, A 33% INCREASE
IN_ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER, FOR CONNECTIONS
INTO WOOD, A 1.60 WIND LOAD DURATION FACTOR WAS USED TO CALCULATE SCREWS SPACINGS.

BERTHA H.V. BAHAMA SHUTTER'S ADEQUACY FOR IMPACT AND CYCLIC RESISTANCE HAS BEEN VERIFIED

IN ACCORDANCE WITH SECTION 1609.1.2 OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS #
0510.01-06 AND 0621.01—07 AS PER ASTM E 1886-05, ASTM E 1996—05 AND ASTM E—330

STANDARDS, QUALIFIED FOR WIND ZONE 3, MISSILE TYPE D, BASIC PROTECTICN ONLY.

2. SEE MAXIMUM A.S.D. DESIGN PRESSURE RATINGS & MAXIMUM SHUTTER DIMENSIONS ON SCHEDULE
ON SCHEDULE ON SHEET 7.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY AND TEMPER, WITH Fy
= 25.0 ksi MINIMUM (UNLESS OTHERWISE NOTED).

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS| SERIES WITH 50 ksi YIELD POINT AND
90 ksi TENSILE STRENGTH AND SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4.

5. BOLTS TO BE AISI 304 SERIES STAINLESS STEEL WITH 35 ksi MINIMUM YIELD STRENGTH.
6. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

7. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING WOOD UNITS: SOUTHERN PINE No.2, G=0.55.

— 1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILOEX, INC.
- 1/4" x 1 7/16" PANELMATE INSERTS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.

NOTES:
A1) MINIMUM THREADED PENETRATION OF TAPCON ANCHORS INTO WOOD SHALL BE 1 1/2".
A.2) MINIMUM THREADED PENETRATION OF PANELMATE INSERT INTO WOOD SHALL BE 1 5/8".
A3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH
PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1 AND A.2).
(B) TO EXISTING POURED MIN. f'e=3192 psi. CONCRETE OR CONCRETE ASTM C-90 BLOCK UNITS:

—= 1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY IT.W. BUILDEX, INC.

— 1/4%9x3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT &
SPECIALTY COMPANY.

— 1/4%¢x1 7/16" PANELMATE INSERTS AS MANUFACTURED BY ELCO FASTENING SYSTEMS, LLC.

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" CR ,,,.
CONCRETE HOLLOW BLOCK SHALL BE 1 1/4".

3
A+

g 4./\/

i

B.3) MINIMUM EMBEDMENT OF PANELMATE INSERTS INTO CONCRETE OR CONCRETE BLOCK
SHALL BE 1 5/8" FOR CONCRETE AND 1 1/4” FOR BLOCK, RESPECTIVELY. 1/4"8-20 .
S.S. TRUSS HEAD MACHINE SCREW USED SHALL SE 1 1/4” LONG SHOULD STUCCO
EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST COMCRETE PANELS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE
BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES B.1, B.2 AND
B.3).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND
SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

8. EACH SHUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE SHUTTER WITH SILL BRACKETS DURING PERIODS OF HURRICANE WARNINGS.

9. IT_SHALL BE THE RESPONSIBILUTY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR
TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

10. BERTHA H.V. BAHAMA SHUTTER'S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS
DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE
D ON A READILY VISIBLE LOCATION AT

PERMIT IS APPLIED TO.

QCATE|
EXPOSED SURFACE OF THE BAHAMA FRAME ¢ OR(E)IN ACCORDANCE WITH SECTION
1709.6.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY QPENING.
LABELING TO COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE.

11. SHUTTER'S MANUFACTURER LABEL SHALL BE

12. (o) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC
AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i. e. WHERE THE

SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION
INCLUDING LIFE SAFETY OF THIS PRODUCT, BASED ON THIS PRODUCT EVALUATION
DOCUMENT, PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTCR'S RESPONSIBILITY.

(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF ALTERED BY ANY
MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND
WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D. ENGINEER OF RECORD,
ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS
LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

srsser,5€) ORIGINAL P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE
i - PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

.n..m\\. THIS DRAWING SHALL ONLY BE USED TO
3 OBTAIN PERMITS IN THE STATE OF FLORIDA

FLORIDA BUILDING CODE (Nen —_Er f.n_onu.c_. Hurricane Zone)

B.2) MINIMUM EMBEDMENT OF 1/4"0x3/4" ALL POINTS SOLID-SET ANCHORS INTO POURED | s —
CONCRETE SHALL BE 7/8" OR INTO-CONCRETE HOLLOW BLOCK SHALL BE ENTIRELY 05" e o : ASSA / BERTHA HY. BAHAMA SHUTTER | ool o
EMBEDDED. A
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4°9~20 S.5. MACHINE SCREW USED SHBAL™BE/pmro m u e o2y
1 1/2" LONG MINIMUM SHOULD STUCCO EXIST. AND 1" MINIMUM FOR WALLS WITH NO STUGCO. £ oot D ILIEC O we. \ [anerca SHUTTER SYSTEMS ASSOC., INC.|
%\O .m./#n.v o TILUT TESTING & ENGINCCRING COMPANY P i
NAL et PH: (820)432-2204 FAX: (S61)203-8360 17-109
Treerptrt DRAWING No
" FiohoA _ELH.Mwm SHEET 1 OF 7




400"

— 210" ——810"— 3 ,\/ﬂz :
213" i | |l i
D 0 2.330" “
8| | = !
: i 1 :
o 078" 7
= (TYP.) ™ |
$ |78 el
\.a,.u Lﬁ M ..*.A " N
| i & " & _ "
—2000"—=  —2125" (+.020}—~ ° & g | m
1 , "
" | -—324" | = | '
(&) Louver (A1) HieH visiBiLITY (B) 1/4” B.0. FEMALE HiNGE S — s — 8 k N
BLADE LOUVER BLADE ’ :
5063-T8 Alum. ALLOY 606316 Alam. ALLOY @ BOTTOM RAIL
5 45— s —1.250" — 1.250"—=
[ 1/4% 1.250"—— I [ G Ly - 3
f———2.330" SRS Iarm_mliﬁ..lmm. mo.l‘ d_I gl J g | —  ane e
| v _ : 8l g | i
___. _ d S ¥ ! 1@|_ : kf g |®| a | ‘
. 3 2 [ TR |
[ .wsﬂ.! & g _ 1 4 ——
W i pe3t bl I o ! 7 g 2 1/4"2—20x1" LONG
EEES E .F ! 2 'S. THUMBSCREW OR
i TAA . s L
i 1 & - w o -
| o/ie T s i (H) LOCKING ROD AT EX
1t HOLE m\ﬁ:at.. _ |
HOLE g !
CHAN a | 12" i
(F) PRE=PUNCH © cuane iaf i f . = 10" Min. _
NTER_MULLIO HOLES |y || & ;
== I - ¥ g | /u@u el
1.997"— iy o ! ;
[ I 1/4"6~20x1" LONG +30°
VIEW X BLOCK WwooD T"—_S.s. THUMBSCREW OR
YIEW A 3/8"0—16x1" LONG
. VIEWS 7 RCETAL THUMBSCREW.
o B
085" f— C R
a.wvuﬂ T %905, 1 o i
o g B &%
.omo..J 3 s 2 L i
i — R £ B
(1) .875” SERRATED TUBE (1) 1” SERRATED TUBE ' —grr— ! FLORIDA BUILDING CODE (Non High Veiociy Hurricane Zone)
INSIDE ARM OUTSIDE ARM © 2017 TLTECO, MC.

ASSA / BERTHA H.V. BAHAMA SHUTTER &
@ CAMEL BACK HINGE e

DRAWN BY

/ liLleEco INc. \ |AMERICAN SHUTTER SYSTEMS ASSOC., INC.| “2%"

TILUT TESTING & ENGINEERING COMPANT 4288 WESTRGADS DRIVE

COMPONENTS

SCALE: 3/4" = 1"

WEST PALM BEACH, FLORIDA 13407
PH: (800)432-2204 FAX: (561)209~8380 17-109

Ze|  DRAWING No

WALTER A TILUT Jr., P.
FLORIDA Lic. § 44167

SHEET 2 OF 7




N ™
N o A — () (conr) fAJoR (AT (B (cont) mv_u\m 6
{AJor Al (C)(conr) QO\m.m (B (cont.) _?U\m 6 (I c/5.6 & :
[ 4 =k | (CONT. TYP.) )
(2) F14x2” FH. [ = w S e ,,,, 2 — =P /58 m»w _fuxm oy | I - - _ = \.\ L= ] D/5.8
w»w:m.,_,ﬁm,/. = N T T Frou ui & me,rr ) e . 7 A Y J
0 TOP RALE) =t T(2) Flaxz” FH, | O TOP RALDE T 7/ T 2 ﬁnxm F.
= 1| P akan ® b i ! f ol FRow JAME )
2 10 TOP RAICIS) _ T il il 10 TP RALTY _
= T 1 A L ]
- J \.\ \“ - |
- i i [ i 7 - —
2 1/8" Min. | | 2 1/8" Min. 2 1/8" Min. |7 i 7 AT | 2 Mm\_.mﬁzs. m
BLADE T Dk oy _ o T PENETRATION i1
PENETRATION J| PENETRATON L PENETRATION [f & —7 W -
i
| — E o A s ] o a3
—~ I | SN w = b [P 7 ] A E) o}
€ ® i &+ ” 7 = : -
N o] M b \. / A, Jh (2) #14x2" a
- — g @) fi1a2” * / ! [7F.H. 5SS, SMS. w
[ - Y FR . S5, S m.W. 7/ T ow, anEree
! = o AME " = o, t A ~
1_(2) fraxz" o mmrmcmm\,zo», vl o 3 Mb HEGHT .
(2) #r4x2” : FF.H. SS. SMS. W @ MD HEGH 25 f L TO BRACE JaMB ©
FH. S5, SMS.Y FROM JAMB (E1T0 % 70 BRACE JaE i 7 f i I >
FROM JAMB (E) TO| BLADE .)nmfm = /o 1 ; 2
BLADE (A)OR AT | © MID TIEIGH <, - 7 x| >
© MD HEIGHT || T0 BRACE JAMB < ; A 5
TO BRACE JAMB || - ; ; !
; i & B/4 Iy H 7 4 B/4
1 4 “ SIMILAR I i N i
] _ = | ~ 11 —7 / v _11T% | e e |
(2) #14x2" F.H. - b\T..w.ir)\A. \,, >\+ .._..|>\;. : \lmnw _fmmuuw z i
- , 5.5, SM.5. ——sf=s i 7 “Te = ﬂwow_n%w,ww\&_. |
L ~ FROM JMBE s L wal s 2l B
B/4 | B/4 10 BOTTOM — [f—1k e ¥ y y o
SIMILAR E RAL§) s H) / H D ) (CONT.) WH _ &/
~ _Mttu FH. (GY =——"W" (SEE SCHEDULE| SHEET dl:ﬁn, "W (SEE mn:moc_.m SHEET .cl_l "W" (SEE SCHEDULE, SHEET 7)—-
(2) #14x2" FH.|; Y osnsNs | — 120" Max. WIDTH - D/5,6
SM.S. —= Ly
EROM it ® _WV. pommmoomoo 3 R w2 R el By %. c/5.6 WOOD SUBSTRA ? D'/5,6
TO BOTTOM _u.._ L ..,\IJ t.\J,_ \D;._ {G) IE
e A = i
G | "W" (SEE SCHEDULE, |SHEET 7) I i gy sads | : B /4
/m\ . ¢ D\m.m w.\h T T 7 i T ~i smMiLAR
Pc/s.e Do /s, > [ 1 = > _ e |
! 2) #14x2" FH. A/4 1l A _— g I (2) #14x2" F.H.
WooD S T & faeren ) /4 AS4 ]S A/ /4 T2 A
FROM JAME &) rafoss oTe / B ~171°] FrOM .?.mw
= B' /4 To BOTTOM Al alo . olo - ulh 10 SOTTOM RaL @
B/4 | Swiuw LD I H) P (D) tconr) ) O,
L b g 4 W ' ~=t=—"W" (SEE SCHEDULE, SHEET 7)—=
(2) *._Nu ] | ~(2) Frenz” £ {G) +—"W" (SEE SCHEDULE| SHEET 7)—\—"W" (SEE SCHEDULE, SHEET 7 (s 1
$S. M5 —; A7 S5 sus. 2 120" Max. WIDTH D/5.6
FROM JAME B TS WAk FROU e mu._ - ::\Q\@. C/5.,6 /2
g _“ & o = a7 b e w &5 CONCR CK SUBSTRATE  D’/5,6
LG YA D £ | =
7 v D @ O fo 2, #.%  MULTIPLE UNITS: CASES Il & i
| "W* (SEE SCHEDULE,| SHEET 7) @ /n.mz,wm. % % CODE. (Ho B ¥ ; -
el .. 3 IDA BUILDING igh Welocit, rricane Zone,
mwv C/5.6 D.\m.m mwv ; No. 44187 E © 2017 TLECO, _M‘_MO_N — — - LC
c R CO K_Su D’/5.6 +* ASSA / BERTHA HN. BAHAMA SHUTTER | k5.
/
SINGLE UNITS: CASE / liLleco INc. \ |AMERICAN SHUTTER SYSTEMS ASSOC., INC.| "%
4268 WESTROADS DRIVE
ELEVATIONS FOR _zm._.>_._.>H_OZw WITH Fﬁﬁ%ﬁfs&ﬁ%% o 55 A B, o 7 —
H N i o e-maik tiecoGeol.com DRAWING No
EXTERIOR_LOCKING ROD (H_FIXATIO OnAL B o k=]
N.T.S. FLORIDA Lic. & -.:5




— ~ —~ e
(Ao (AT} (C)(conT. &% e Mer (A7)
.quﬂ kel ;o\ ' [pessasa Ejeom) @6.\%_% (€ tconr) Pc/sa,6a ,rm\o oy .&u (8) tconry Do,/sa,6n
(2) f14x2" FH. [ m N 5 ~17D'/5A.6A @) A1ea” P o = i = o A —— D’ /5A,6A
$5."SMS T 5. 'SM.5— 7
FROM JAMB (E; ]| \ T T ﬂwoﬂ_ JAMB (N / O : 7 ==
{ e y , OP RAILC) =] i sl i T
TO TOP RALTC) e J/.me mmﬁxm F.H. = % u, L \ mnm ﬁﬁx%« _...I.u..ﬁ.
f FROM_JANB (E; - : i a Hl  FRow sais &)
o T0 TOP RAILTE) A i 4— Ll 25 Tor RaLTE
o § E ! g, : 7 A ! |
2 1/8" Min. | | 2178w, | 2 1/8" i, | : 7 3 i B
BLADE —F - BLADE ﬁ BLADE _ 7 f. - BLADE
PENETRATION || PENETRATION L PENETRATION H.|.d A 1| penETRATION
y j F / i b
= 1= o i ! — T = —_ c‘
LEFmt L,..lm\ ] (E L \ / ! —E ) o
73] | e =1
f 1 5 /7 m
I i ,U.ﬂ 5 7 . W
_ 2 @ her __ i A, () flac" @
I i 5 Feuame T | il 7 J“.\mﬁzww.ewv..w,w«o b
@) fra _ 0@ s D SRR Al T — 1 0| soeRorw <
FH SS, SHS e 7 TH S5, SMS. W © MD HEIGHT i ) — ] | ®uoRRGT =,
FROM JAVB (E)T0 | || FROM JAMBEITO B TD BRACE JAE i 7 1 i| TO ERaCE JavE F
BAERIGRAD I || BAEAIOR AT~ h — T ! -
@ MD HBGHT i | © mD FacHT =, h - - ! 3
O BRACE 4B || | O BRACE wug ¢ = - 7 + 4 c,..
! 1 z * 7 {
= . g B/4A “ ; | |
C ] 7 m_.ﬁg _ ! , | B/4A i
“ W ~ T e T _| = 1= _
_ m | mge e 8 i s i 1 A s .ﬁmﬂm@ﬁaﬁj
B/4A | ] [ FROM JAMBE ST sle Iy ole R 2 G
m:“_z..x h | B/4A _ o {1 YH) ! ;i N g TN
5 | I~ - ] B ! fr Doty (H- | &)
+ - . | —~ i g = | " o= - g |
(2) fra2 EH |- il—2) fienzm FH | (G} __1r.s (SEE SCHEDULE| SHEET 7)——"W" (SEE SCHEDULE, SHEET 7)—~=—"W" (SEE SCHEDULE, SHEET 7)
33 SMS. e itk o z g O anm:w&».,mw@ ~ 120" Max. WIDTH U\m> BA
TOM avie © | - ¥ 13| 10 soTToM BaL B4 Ev C/5A.6A o m\u., A
RALD) /l H) 0 | (A [\~ w002 £ /5
@) | = = | | & ;
= "W" (SEE SCHEDULE, |SHEET 7) - T ? [\ T B’ /4A
D/5A,6A 'S4 7 . :
P c/5a.6A b c,\\m it B/4A | . ny ! S
~ jy e, = W g I~
WOOD SUBSTRATE Awmwmm_”_am. E o A/AA - A ER—= AJ AP A/ A i mww mmgyxm.. FR
. B'/4A oyl N e 3 7 i A R e
B'/4A SIMILAR RAIL (D) i) T ¥ = — ] TO SOTTOM RAIL (@)
=~ i N4 — . “H | /o (D) cony _ (H~ “ T
@ f142" Fn o @ f16 F & —"W" (SEE SCHEDULE| SHEET 7)~—l (SEE SCHEDULE, SHEET 7)———"W" (SEE SCHEDULE, SHEET e
.S, SMS. —J5] A°155. sus. ! "
FROM JaM8 B RS —========3 s;in.mﬂll_w._ FROM. JAND 1207 Mox. WIDTH ,
T0 BOTTOM o \ " o] T0 EOTTOM BAL @) Ev C/5A,6A D/5A,BA
wE ¥ IONNCRICH s UERA 77 conc D'/5A.64
= H (o) | (H (G " T, e
W) L e rere conenpieseer 7) - % VQm \wm\syoao MULTIPLE UNITS: CASES Il & i
. RN
?O\m_).g D/5A,6A -2 FLORIDA BUILDING CODE (Non High Velocity Hurricone Zone)
U.\W}.m) 3 5 © 2017 TLTECT, INC.

ASSA / BERTHA H.V. BAHAMA SHUTTER P

CONCRETE_OR CONCRETE BLOCK SUBSTRATE

SINGLE UNITS: CASE |

/ lILIEC O i \ | AMERICAN SHUTTER SYSTEMS ASSOC., INC.| “2%Y
4268 WESTROADS ORIVE

TILLIT TESTING & ENGINEERING COMPANY

ELEVATIONS FOR_INSTALLATIONS WITH

= 58 L B 5 e SR, e e P (BEOMS2-2200 FAX. (56 S0hee 17-109
INTERIOR LOCKING ROD H' FIXATION - R P et o o SN AL it

WALTER A TWLIT Jr, P. E 1
FLCRDA Lic. § 44167 3

N.T.S.

| o ti-cem
|

“ “ SHEET 3a OF 7




CONCRETE HOLLOW BLOCK
REQUIRED @ CORNER (Typ.)

(2) 1/4"¢ TAPCONS OR ——

(2) 1/4"0x3/4" ALL POINTS
SCLID-SET OR

(2) 1/47 PANEL MATE INSERT |

7,
3" FOR TAPCONS \
—~3 1/2" FOR woculmmw%‘i
i Min. E.D.

N,

(2) #14%2" EH. S5. SMS.

FROM JAMB (E)TO BOTTOM RAIL @
+ (2) #14x2" FH. SS. SMS. _
FROM JAMB (E)TO BLADE (A)OR &)
@ MID HEIGHT TO BRACE JAMB

CONCRETE HOLLOW BLOCK —
REQUIRED @ CORNER (Typ.) /

!

rE W/ INTERIOR WEB
NOTCHED AT
BOTTOM RAIL )

5/16"x2" sLeT

PR/ L 1o R

(4) 3/16"

ALUMINUM

POP RIVETS
BACK & FRONT—
/

2" x 4" WOOD____
STUDS REQUIRED ke
@ CORNER (Typ.)

(€1 W/ INTERIOR WEB
NOTCHED AT \
BOTTOM RAIL(D |

5/16"2" SLOT / 8

} \

E W/ wes

L(2) #14x2" EH. S.S. SMS.

\

\ (3) 1/4°® TAPCONS OR

\(3) 1/4%x 1 7/16" PANELMATE
INSERTS TO WOOD

L ©

FROM JAM3 (E)TO EOTTOM RAIL ©)
+ (2) #14x2" F.H. SS. SMS, _

> | NOTCHED AT FROM JAMB (E) TO BLADE (&) OR &
— 2_._:_%%2_ LOCATION — BOTTOM RAIL SECTION A—A @ MID HEGHT TO BRACE JAME
3 PLAN
(2) #14x2" FH. SCALE: 3/8° = 17 1@ s ® (2) #14x2" FH.
— C 0 aon s /55, SMS By wee . | BA0E Ty S5 SMS. —— & W/ INTERIOR WEB 2" % =" WooD
BOTTOM RAIL (D) | ....\\ FROM JAMB (E s NOTCHED AT— . | “ FROM Lb_sm@ 3 / NOTCHED AT 3 STUDS REQUIRED
i 2 /7 10 BOTIOM RAIL(G) BOTTOM RalL (B . /R TO BOTTOM RalL © / BOTTOM ...xer@ | ® CORMER (Typ)
f ER T % T y T ~V 7| i Ve R T
| S 4 ’ @/._ 2 /8" un, N S \ /[; f 11 ,,_ | ..“ 2 /8" Min. \@ |
. oW L b BLADE FENETRATICN ||, 1 \ | BLADE PENETRATON | ([ - .
R - e | gl P4 i s \ AN 1 e ATy
[ T e R | . (S — i oesT— A
Pt R @ m i w 625" 625" @
R H / .mv B | I o
o i it = <= H D . —
.\.V...” P < i / = ; W.m._u. hi i Bl e
s | ' i | % = |
o - N - .
s TS b - i
e #A e [ — o M i
R 1/476-20 555 T T L S to S N g gt e
L s o ) 31670 1/ S LA 1/470-20 &= | sior = :
153 x1" LON 3 )
e THUMBSCREW. .1~ ' . | JLUMINUM™ | £ e i Ny ST LONG L 3 &
Ny BT e [ i ., POP RVETS — " caqr, 2 " THUMBSCREW/. F ot
S E ..a_“xo:n.,zmwwmms | 11 .. "EACK & FRONT s . S .m_._o\n._h:%.ﬁoq. i
B ATON L) . & X 5 G et e ‘ = ‘B
o L(2) 1747 TAPCONS OR : ) : ) mw “u.“a .E”nmu”%m . = =
o TEE T (2) 1/4"ex3/4" ALL POINTS [ : o ; .ﬁm>zm_.§qam "INSERTS TO 100D =1 k
. .*7 SOUID-SET OR t.-_::_ﬂ__-\s.\\w\\\.\h SAL INSE ; %* i
2) 17470 ) ; T ey ) & e

'

FLORIDA BUILDING CODE (Mon High Velocity Hurricane Zone)

\
\

© 2017 TLvECO. WC.
ASSA / BERTHA H.V. BAHAMA SHUTTER SR
liLleco P
| INC. AMERICAN SHUTTER SYSTEMS ASSOC., INC. DATE
TILLIT TESTING & ENGINCERING COMPANY 4265 WESTROADS DRME
; ey peasipad WEST PALM BEACH, FLORIDA 33407
2 2R Gain AT i ne e Ph: (800)432-2204 FAX: (561)209-8380 17-109
e—mail: tilaccCoel.com DRAWING No
3-0006719 oA \ﬂ!.H..IEl
WALTER A TILUT Jr, P, E. | &b ib-cas  Jarmun 3
FLCRDA Lc. § 44167 T 1 SHEET 4 OF 7




(2) #14x2" FH. SS. SM.S.
FROM JAMB (E) TO BOTTOM RAIL(D)
+ {2) #14x2” FH. S.S. SM.S.
FROM JAMB (E)} TO ELADE (A) OR
@ MID HEIGHT TO BRACE JAMB

CONCRETE HOLLOW BLOCK —
REGUIRED @ CORNER (Typ.)

(2) 1/4" TAPCONS ox,,
(2) 1/4"$x3/4" ALL POINTS
SOLID-SET OR

(2) 1/4" PANEL MATE INSERT ,

2

—3 1/2" FOR moEDqu

3" FOR TAPCONS \\

Min. E.D.

CONCRETE HOLLOW BLOCK —
REQUIRED @ CORNER (Typ.) /

{E) W/ INTERIOR WER
NOTCHED AT
BOTTOM RAIL (©

5/16"x2"
slor

) a

(<) 2/167

ALUMINUM
POP RIVETS ,l@
BACK & FRONT—7 |

5/16"x2"

2" x 4" EDDD
STUDS REQUIRED
@ CORNER (Typ.)

® W/ INTERIOR WEB

NOTCHED AT

BOTTOM RAL ()

e oo ity

@ _vlls THUMBSCREW LOCATION

SECTION B'—§°

Toros 7 A
SOTIOM RALD) SECTION A-A

107 THUMESCREW LOCATION

r..r.

= BlagE _unzrl_.m)dol

{3) 1/4"0 TAPCONS OR

,lg 1/4" x 1 7/16"

_uJZNFZ.ﬁ.m INSERTS TO WCOD

,Gv F14x2" F.H. 5.5, S.M.S.
|FROM Jamg (€70 BOTTOM RAL @)
:. (2) #14x2” F.H. S5, w;m

| FROM JamB (E)TO BLADE (&)
‘& MD 1_.”_014\ TO BRACE 1/

2" x 4" WooD
\  STUDS REQUIRED

& CORNER (Typ.)

P SECTION B—B
(2) # LAN
. 2) #14x2" FH. seue e - 10 1® o QD (2 #14x2” £ 5
(€ W/ INTERIOR WEB y . W/ INTERIOR WEB
mow.m\zmo AT— 4 Wmmmozm ,u,_m Bw/ wes E.Bn ) 5.5 SMS. ;S & fmgﬂ\“‘xma AT
BOTTOM RaIL @)\ B E NOTCHED AT—. @ FROM JAMB (E) \BOTTOM RAIL @
; K i T0 moj.o; RAIL @ BOTTOM RAL ) ™. 74 4 TO BOTTOM RAIL @ / g X
(S : v i I i 7 N , o T __, _
P L _u\:.;u.l | £ 14 e I o I =
| ) .0 ; ﬁmsn FENETRATION 71 | stor | ’ || 1 wm_m.m %2 | AN ,,‘_.,.mr.am u?J».éSlmM = ; _
i S s x o s — — 4 . o
R Ty - =en Q G ; T :
i T A 0 W Wy | S W ) i Y T
=k ] 7 — d i e T -
i i / P ] i ) RE) b
£ S g m \\,. = <z = \ ” Lo
' - - / . 4 I L | L i e *
. P n_,. .Jhﬁr-m.nﬁwﬂwml.m\ b ) @i o =S N ft&thn} A 4
S ittt RO ; ; 5 A
O TEN e “,..J\ﬁ.a. T d | SR T PR I 4 o i
“ T G e " LONG. T T Ao (#) 3187 1 @ | r_\: -20 wm z
“ q.zczmmomﬂ._ : : UL T ALUMINUM - | b | .x1" LONG 7
: i ten AT ] | gl 0 BYETE e, ok | * THUMBSCREW. |
5 u..ﬂroe.iz o . - . e : ; . <t & SLCT, LOCATION |

.r|3 /47 TapCoNS OR

. (2) 1/4"ox3/4" ALL POINTS
..+:_ SOUD-SET OR
L (2) 1/4% ub_,.mr MATE NSERT

il u\:\\\\n\h

BRAT _

| o
L iy

- (3) 1/4" s TAPCONS oxl..[
“(3) 1/4% x 1 7/16" .
PANELMATE INSERTS TO wOOD

\

ELEVATION m” \

SCALE: 3/8" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

© 2017 TILTECO, INC.

ASSA / BERTHA H.V. BAHAMA SHUTTER

TILLIT TESTING & ENGINEERING COMPANY
23 1 Jon 3 S 3o VAGHA CANIDE AOTM 33166

i OESIEIISTAN . Fen 1 (309)871- 183
e-mail: titecoDaol.com

/ liLIEC O ine. \ [AMERICAN SHUTTER SYSTEMS ASSOC., INC.

4268 WESTROADS ORIVE
WEST PALM BEACH, FLORIDA 33407
PH: (300)432-2204 FAX: (561)209-8380

FLORIDA e, § .r.._mv

SHEET 4A OF 7




~ WO0D HEADER i WEOD HEADER o™ WOOD HEADER
T FEQUIRED " REQUAED s REQUIRED
o . ; o ~
17473 TAFCONS —— 1/4" TAPCONS \ | —— 1/4%8 TAPCONS
(SEE SCHEDULE SHEET 7) (SEE SCHEDULE SHEET 7) (SEE SCHEDULE SHEET 7)

\w.u.. ]@nﬁ:p

5.5. S.M.S.
FROM JAMB (E)
TO TOP RAILIC)

W/_wmi\zmm
| 'RotcweD ar
TOP RAL (D)

| D ®
% (TvP.)

EXISTING
GLASS —

—(2) #14x2" EH. 5.5 S8
3 FROM JAMB (E}TO BLADE (A)OR &)

E x_(2) §14x2" FH. 55, SMS,
L) Y\, @ MID HEIGHT TO BRACE JAMB

N FRON JAMB (E)TO SLADE (A) OR &
e J_.. B D HEIE 10 amaes s &

1F

B =@

(me)

|@ Cont.

| (onLY FOR SNGLE UNTS)

{ (OHLY FCR WULTIRLE UnTs) |

3/16% Aum.
2 PCP RMVETS

/47 9=20 BOLT W/NUT -

Fiw/ wes

NOTCHED AT
BOTIOM RAL(D!

&

2 o —, ¥ f

% WCoD \ % .2

= PLATE \ (4) 3167 = 3 <

~ FR@OD [ ALLMRUM P . -

! | BCE RivETS = ? -

| | BaCk & FRONT | | @ -

t b Bl / Viss n

§ N W Y L1/4~20 THuMS SCREW | t ]

: s \ D % (2) fr4xz” Fr &
- A 5.5. S.MS. =5 \
i h FROM JAMB (E) | Cent.
L \ ‘BAL(E) L Y (2) §14x2* FH.=

\—1/4% 8-20 BOLT W/ WINGNUT TO BoTToM o S —1/4" ©-20 BOLT W/ WANGNUT s ms ™
Y FROM JaMB(E)
\_(3) 1/4°8 TAPCONS CR (3) 1/4%x 1 7/16" P /lw& 1/4°a TAPCONS OR (3) 1/4%x 1 7/16"  TO BOTIOM RAL (G
) ““PANELMATE INSERTS TO STUD (MIDWOTH OF b it ARELMATE INSERTS TO STUD (MIDWIDTH OF
/ i 2 3 STUD, 2° MM, NOM) 7 7 STUD, 27 VIN, NOMIN
o ma e s v § wooD STUD o~ i L) Woou S0\ 9 ./ { M
ey 247 0. €. MAX
SECTION C = € REGURED SECTION D -

(WALL MOUNT) (WALL MOUNT)
HURRICANE EOSITION NON HURRICANE POSITION
SCALE: 3/8" = 1°

{WALL MOUNT)
MNCGN HURRICANE POSITION
SCALE: 378" = 1%

FLORIDA BUILDING CODE (Hon High Velocity Hurricore Zone)

@i mimes e, ASSA / BERTHA H.V. BAHAMA SHUTTER | o550

/ lILIEC O ix. \ [AMERICAN SHUTTER SYSTEMS Assoc., INc.| 2%
4268 WESTROADS DRIVE

TILLIT TESTING & ENGINEERING COMPANY

s G WEST PALM BEACH, FLORIDA 33407
e T G R SRS ST e PH: (800)432-2204 FAX: (561)209-8380 17-109
oil: il K
?an_mwmﬂoawwﬂ__m R Y. Mo DEzCRTE o Scacernon Tt DORAWING No
WALTER A TILLT Jr., P, £ . EOR N 7T

FLORIDA Lc. § 44167 3| T =1 T SHEET 5 OF 7




N e [T T I
WOOD WEADER il WOOD HEADER S i
\l REQUIRED — T - REQUIRED

1/478 TAPCONS I
\ (SEE SCHEDULE SHEET 7) Iy

1/4°¢ TAPCONS
(SEE SCHEDULE SHEET 7)

—— 1/47c TAPCONS
(SEE SCHEDULE SHEET 7)

{E, Lﬁmﬂ_gqsmn
TCHED
\TO0P RAL(E ,wu

.ou.h:nc AT
TOP RAIL{D!

or A)

(me.)

& =@
| v

T—i2) F14e2° £H. SS. SMs.
FROM JaMB (E) 10 BLADE (A) OR (&)
@ MID HEIGHT TO BRACE JAMB

f
| tonur FoR smieie unms)

P A

(2} 3/16% Atum,
/47 @ FOP AIVETS
(ONLY FOR MULTIPLE UNITS)

1/47 9=20 BOLT W/NUT

Sk Ew/ wis

;
kY 3 \
< ) @o EACH. eﬁw N
= F 3 3 LOCATION
/ T : , .r A
et i £ rea_. Cant. 5 \ 1/476=20 THUMB SCREW
- £/478-20 THUMB SCREW (@) frexz FHS an 2 \ \ /478 ,.(/\L
5.5 SMS, -
N o boman B @ ,_ N @ §1o2" Fr
SO ~1/%" =20 BOLT W/ WINGNUT o -1/4% $-20 BOLT W/ WINGNUT S5 Sus
- FROM JAMB{E)
/ (3) /47 TAPCONS CR (3) 1/4%x 1 7/16° \_(3) 1/47 TAPCONS OR (3) 1/4°ex 1 7/16"  TO BOTTOM RAL D)
“PANEUMATE INSERTS TC STUD (MIDWIDTH CF “PANELMATE INSERTS 70 STUD (MIDWISTH CF
STUD, 2° MIN. HOMNAL) WOGD ST & STUD, 2 MIN. HOMINAL
! 24" 0. €. max—"
SECTION D = D - RECUIRED >_-._.mmz>._.m SECTION D’—D’
(WALL MOUNT) L ey (WALL MOUNT)
NON HURRICANE FOSITION .....(m.ﬂf..w.ww. d._wn\ \iln. NON HURRICANE POSITION
SCALE: 3/8" = 1* o...@.d,...../mnz,wm.....&“u = SCALE: 3/8" = 1°
| & e - R FLORIDA BUILDING CODE (Mon Hign Velocity Hurricone Zone)
Wo0D STUD © 3 Y. £ 2017 TLTECO, W,
24" 0. ¢, WAt~ H 4 d 0. 44167, ; & ASSA / BERTHA H.V. BAHAMA SHUTTER | olS 5
SECTION C - 174 =4 o
H K /28/17
(WALL MOUNT) LY %,. N liLlec © inc. \ |AMERICAN SHUTTER SYSTEMS ASSOC., INC.| 4%
HURRICANE POSITION RN & TILUT TESTING & ENGINEERING COMPANY 4258 WESTROALS DAVE
- e, el an WEST Py BEACH, FLORIDA 33407 s
SCALE: 3/87 = 1° ...\n. Do “)ymww_..u_ RS B R SRS N e FH: (B00) 122204 FA (S21)300 B350 17-108
~ESIoNAL T ol el o ShAG e
c-esavess” e oRion ﬁﬁ:nq & SHER - SUAF 7




CONCRETE OR

CONCRETE BLock /7
HEADER REQURED \
V7
Z
1/4°8 TAPCONS b, 1/4%¢ TAPCONS
(BEE SCHEDULE ™. Z (EE scupuiE s, \\\\ .
ON SHEET 7) OR SHEET 7) it 4 72 l.oa t
000 _._____..._____.:_.__.nmm "
s |
b7
Nwww
Z
\ .,
(1) 3/16% \
MR UM
| pop RVETs Z
BACK & FRONT \\
™SEw/ wes =z
NOTCHED AT

N\

TOP RALL (D)

CONCRETE OR _
CONCRETE BLOCK

f
:
8
8

(TYP.)

[fese

S
| 2
9 ) _l@nnar

| ._1 (ONLY FOR SINGLE UNTS)

, m “7,. p.,,.,l@?,.r
IS

| toxue For wuLnpLE Lrs)
i

DA

— 2 1/2" Min,——

4 ©
| () 3/18% 74— N
7 ALUMINUM T ={
| POP RIVETS
/ BACK & FRONT
L

A\

L Y Iy v
| S| SoriHeD AT
BOTTOM RAL (D)

)

N\

1/47 ©=20 BOLT W/NUT

L1/4%e-20 TrHUMS SCREW

sl®

7 Cent, 174" 6-20 BOLT W/ WINGKUT
s (2) 1747 TAPCONS OR
w2 (2) 1/476x3/4" AL POWT i

SECTION C - C
(WALL MOUNT)

HURRICANE POSITION
SCALE: 3/87 = 1°

SECTION D — D
(WALL MOUNT)

NON HURRICANE POSITION
SCALE: 3/87 = 1"

CONNECTION TO CONCRETE OR CONCRETE BLOCK
W/ EXTERIOR LOCKING ROD H FIXATION

e
n
K

i,

gedisersee,

i
o"'”

¥
"\

(2)

\l

{2) #14x2" FHA

S.5. S.M.5.

FROM JAMB(E)
TO BOTTOM RALL @

OLID-~SET OR
{2) 1/47ex1 77167 PANCLMATE INSERTS

Ji9 m“sm.\\m e,
& 4
S

1/478 TABCONS ——

{SEE SCHEDULE
ON SHEET 7)

f14x2" EH. S5 SMS
FROM JAMB [E)TO BLADE (A OR &)
© MID HEIGHT TO ERACE JAMB

.
\ ~EINTERIOR WEB.
N NOTCHED AT

Cent,

i
06 mz,wm,......&m

i No.d4167 *
S

=
=
-
=
>

7
CONCRETE OR “\\

CONCRETE BLOCK 7\
WALL RECUIRED |,

x\\

\

Q\\\

N

7

{2) 1/47

(2} 3/167 AMum.

1/4% 8=20 BOLT w/NUT -,

'—1/4" 0-20 BOLT W/ WiNGKUT

(2) 1/470x5/4" ALL POINT SCLIG-SET OR
(2) 1/4%ex1 7/16" PANELMATE INSERTS

o )

=
F—\
..W#-iljrﬂhb/\,,.

FOP RIVETS

(2) ¥1ax2" FHA
SS.SMS.
FROM JAMS ()
70 BOTTOM RAL @)

TAPCONS OR

(WALL MOUNT)
NON HURRICANE POSITION

SCALE: 378"

FLORIDA BUILDI

© NID HEIGHT TO BRACE JaME

L =)

N — (2) §14x2° FH. SS. SMS.
Yl s B S e &
N i) )

e

NG CODE (Mon High Velocity Hurricane Zone)

© 2017 TILTECO, WNC.

FLCRIDA Uc, § 44167

2| R I S |

Lc,
ASSA / BERTHA H.V. BAHAMA SHUTTER SRAWH Y
o7/28/17
/ liLIEC O xe. \ [AMERICAN SHUTTER SYSTEMS Assoc., INC.| %
TILLIT TESTING & ENGIN G CoMP) 4268 WESTROADS DRWE
G s o s ko NSERING COMEANY WEST PALM BEACH, FLORIDA 33407
Prene § (KOJTI—1830 | For + (351eF1-1291 PH: (B00)432-2204 FAX: (561)208-8380 17-108
e—mail: titeco@aol.com DRAWING Ko
£B-0C08710 A Ceron e | v o o
WALTER A TILLIT Jr., P. E. 1 oD 13-con /388 3

SHEET & OF 7




CONCRETE OR

. s
SRR 7

1/4%8 TAPCONS
(SEE SCHEDULE, Y
SHEET 7) .

1/47¢ TAPCONS
{SEE SCHEDULE,

(TrP.)

| —©e

W :oz: FOR SINGLE UnTS)

i
,
AN e

Wl (csy FOR wuiTRLE UtS)
]

,m m" - m\|® OR @

1Ew wes
)4l ROTCHED AT
J BOTTOM RAL{D)

\ (4) 3/16%
T ALUNINUM

7 N ot
CONCRETE OR | \ B
CONCRETL BLOCK ™ 444,
REQUIRED

NN

SECTION C = C

(WALL MOUNT)
HURRICANE PQSITION
SCALE: 3/8" = 17

A

A

o]
(=}
=
z
g
—
O
=4
—
=]
2]
o
Z
O
B
—
m

W/ INTERIOR LOCKING

CONCRETE BLOCK ™
ViALL REQUIRED '/

A\

N\

N

A\

NN

e

+®

NN

=

W

N

2) 1/470 TAPCONS OR
(2) 1/47ex7/8> ALL POINT SOUD-SET OR
(2) 1/4%x1 7/18" PANELMATE INSERTS

o .--
1| I
_ 1 (/4720 THUMB SCI
: \§\ Pk @ Y 2) fra
h O S5, 'SHS,
| \\ \ FROM JAMB
\ . “-1/4" 6=20 BOLT W/ WINGHUT TO BOTTOM
| Z :

Iy

r

SECTION D = D
(WALL MOUNT)

NON HURRICANE POSITION
SCALE: 3/8" = 1"

OR CONCRETE BLOCK
ROD (H) FIXATION

1/4%0 TAPCONS
(SEE SCHEDULE,
SHEET 7)

F14x2” FH. S5, SMS
e\, FROM JAMB (E) 70 BLADE (A) OR &
S 07\ O MID HEIGHT TO BRACE JAME

R ENNTERIOR Weg

N\ RoTeHED AT
BoTrou RAL (D)

FH.S

mm.._r@

©

"1/4 820 BOLT W/ WINGRUT

ALTERNATE SECTION D'-D’
(WALL MOUNT)

,.,.K

\
)
)

@ 4 A\
174" 9-20 BOLT W/NUT - \ = W e
i N @ /,.\ = ./.,
S D2\
) N

L 1/4"8-20 THUME SCREW Y !

Y i

¥¢ /“ r@

Ay cont.

(2) #14x2" F.H.
S.S. SH.S.
FROM JAMB(E)
(2) 1/4% TAPCONS OR T0 BOTTOM RAL @
(2) 1/4%x7/E" ALL POINT SOLID-SET OR
(2) 174%x1 7/16" PAMELMATE INSERTS

NON HURRICANE POSITION

S

CALE: 3/8" = 17

.4
Y (2) #14x2” EH. S.S. SMS.
@q X FrRoM JAva E)TO BULADE (A OR &
SN\ © MID HEIGHT TO ERACE JAMS
e
S,
% o

FLORIDA BUILDING CODE (Non _.—wm-._ Velocity Hurricane Zone)

© 2017 TLTECO, INC.

FLORIDA Uic, # 44187

ASSA / BERTHA H.V. BAHAMA SHUTTER .. -
liLleco e
INC. AMERICAN SHUTTER SYSTEMS ASSOC., INC. DATE
TILUT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRVE
7z % . WEST PAUM BEACH, FLORIDA 33407
0 MDY G ST PR R Ph: (S0D)432-2206  FAX: (561)209-B380 17-108
e—mail: tiitecoGecl.com DRAWING Neo
EE-0006718 V. Ha =] o oo 253
WALTER A TILUT Jr., P. E [] G0 13=C88 /2041 3

il | O = s | |

SHEET 6A OF 7




SCHEDULE # 1

MAXIMUM SHUTTER SPAN "L" (in), MAXIMUM SHUTTER WIDTH "W" (in) FOR SINGLE (CASE |) &
MULTIPLE (CASES Il & lll) UNITS FOR A CORRESPONDING A.S.D. DESIGN PRESSURE RATING
FOR INSTALLATIONS INTO POURED CONCRETE, CONCRETE BLOCK OR WOOD SUBSTRATES

N ITS v, MULTIPLE UNIT: AT
@ CASE 1 : WALL MOUNT . CASE Il : WALL MQUNT @.’ CASE Ul : WALL MOUNT
BAHAMA A — I.Lﬂ.
SHUTTER - —
ELEVATIONS e
. . ] R S —
Tl&ll._ _lloocmrm UNITS: T‘Iamzu_.m cz:.m|l_
] SiNGLE |
UNITS
MAXIMUM A.S.D.
DESIGN PRESSURE | MAXIMUM UNIT MAXIMUM SPAN | INTERIOR MULLION |MINIMUM SEPARATION
CASE
RATING WIDTH "W” (IN) "L" (IN) TYPE REQUIRED TO GLASS (IN)
(p.s.f.)
| +45.0 , -55.0 42" 96" N/A 4 5/8"
& +45.0 , -50.0 40" 70" G 3 5/8"
SCHEDULE # 2

MAXIMUM ANCHOR SPACING AT TOP FEMALE I_zmmm@
FOR SINGLE (CASE I) & MULTIPLE (CASES II & Ill) UNITS
FOR A CORRESPONDING A.S.D. DESIGN PRESSURE RATING & SUBSTRATE TYPE

JINIIT Sy,

2,
» e
v

n

‘

SERA TG
TNBENg g

MAXIMUM A.S.D. SUBSTRATE
CASE ommamﬂ_u_”mmmcxm 00D POURED CONCRETE
OR
(p.s.f.) SOUTHERN PINE No.2 CONCRETE BLOCK
| +45.0 , —55.0 12" 7 1/2"
& +45.0 , —50.0 7 1/2" 7 1/2"

© 2017 TLTECO, INC.

FLORIDA BUI

=, o
Sresamnst

LDING CODE (Non High Velocity Hurricane Zonc)

ASSA / BERTHA H.V. BAHAMA SHUTTER

LC.
DRAWN BY

/ ILIECO e, \

TILLIT TESTING & ENGINEERING COMPANY
(e ;ﬂtumi .wuﬂ.nmuuuw Tox ¢ DB..E:..;.EL b
e-mail: titecoBael.com

WALTER A, TILUT Jr, P. E

FLORIDA Lic. § 44167

4268 WESTROADS DRIVE
WEST PALM BEACH, FLORIDA 33407
PH: (800)432=-2204 FAX: (551)203-8360

3

AMERICAN SHUTTER SYSTEMS ASSOC., INC.

07/28/17
DATE

17—-109
DRAWING No

SHEET 7 OF 7




